FUILTUY R 284 TROFE] %

NO. 1 NO.2 NO.3
11-17+8 11-14+9 11-6+15
2 |-18-5 2 |-17-8 2 |-15-6
4155 4|97 <1 415
5|5 +(-2) 5|5+ (-9) 5| (-39 (-5
6 |7x—8x 6 |5a+7a 6 | —-6x+8x
7 (2a—3b+5a+6b T (4dx-5y—x+3y 7 ({3a—-8b+7a-5b
8 |9a—-2b-5a+7b 8 |7a—-3b-2a+5b 8 |ba—4b-3a+9b
9 | (7x+3y) - (7x—3y) 9 | (8x+3y) - (5x —4y) 9 | (6x—5y) - (3x—4y)
10 | -7(4x— 7y) 10 | -7(4x—9y) 10 | -8(5x - 3y)
11|5(2a - b) - 3(2a — 3b) 11|5@x—y)-3(x—-2y) 11|3(3a + 5b) —2(4a + 7b)
12| 7(x - 2y) - 3x —y) 12| 7(2a - b) — 3(3a - 2b) 12| 2(5x - 2y) - 3(4x —y)
13| —4ax9b 13| (—6a) x (=7b) 13|-7a % 9b
14 |62x (-9y) 14| -8a x 5b 14 | (=3a) x (-8b)
15 | (=2x)? x3x 15| (=3a)? x5a 15| 2xx (-32%)
16 | 14x%y +2xy 16 | 24a°b + (-3ab) 16 | 56ab? + 8ab
17 | —48a°b + 8ab 17 | -30xy? + 5xy 17 | (=362%y) + (9y)
18|24” + (L) 18| (507 = L) 18|(-8a%) = Ta
19 [2a x 3b x 5ab 19| 27xy + 3cx 4xy 19 | 6xy x 4x + (—8xy)
20 | 1527y = (—3x) x (—4y) 20 | 24x%y = (—6x) + 2x 20 | 28xy? + (—4xy) x 8x




FUILTUY R 284 TROFE] %

NO.4 NO.5 NO.6
1 |-7+11 1(8-13 1|-15+9
2 |-12-5 2 |-7-12 2 |-14-9
i [4+4 :[4-3 i [-4-4
4o 4|75 % 7 4| )
5|5+ %) 5|7+ (%) 5 (L) +(—25)
6 [3x—9x 6 [8a+7a 6 |-5x+11x
T 15a—-2b+3a+7b T | 7x—4y—3x+3y 7 |6a—7b+4a—-3b
8 |7a—8b—2a +4b 8 |9a—-3b—-5a+6b 8 |12x-3y—7x+9y
9 | (6x+2y) - (5x—4y) 9 |(11x+3y)—(6x—2y) 9 | (6x—3y)— (8x+2y)
10 | -8(3x—4y) 10 [-6(72x - 3y) 10 |-9(6x+y)
11|6(2a +b) —3(3a —2b) 11|73z —2y) - 5@z —v) 11 4(3a +2b) - 3(5a +3b,
12 |52 - 3y) - 3(dx—y 12 |52a — 3b) —2(3a — 2b) 12 | 72x—y) - 33z —v)
13 |-8a x 4b 13 | (~7a) % (~9b) 13 |-8ax5b
14 | 7xx (-9y) 14 | —4a x 6b 14 [ (-5a) x (-3b)
15 | (=3x)? x4y 15| (=2a)° x 7a 15 | 6xx (—42%)
16 | 2022y + 4xy 16 |48ab? + (—8ab) 16 |49xy? = 7xy
17| -63a%b + 9ab 17| -35xy% + 5y 17| (-7227y) + (-9y)
18|24 +(-194) 18| (-24ab) - (-Lb) 18|(-1442): L4
19 |3a x 4b x 5ab 19 | 32xy + 4 x 7xy 19 | 6ay x 3x + (—2xy)
20 | 24x%y + (~3x) X (—4y) 20 | 54x%y + (~6x) + 3x 20 | 42792 + (—6xy) x 9x




